TRANSFORMACE TROJNEHO INTEGRALU

Cylindrické souradnice

X =TrCoS¢p ¢ €0, 2m)
y=rsing r (0, «)
1=12 zeR

cosp —rsing O
J=[sing rcosp O=r
0 0 1

Zobecnéné cylindrické soufadnice

X =ar cos¢e ¢ €0, 2m)
y =brsin ¢ re{0,1) , a,be(0, x)
1=12 zeR

acosg —arsing 0
J=|bsing brcosy 0 =abr
0 0 1

Sférické souradnice

X =T COS@COoSy @ (0, 2m)
y=rsinpcosy ye{-%.%
z=rsiny re(0, «)

COS@COSy —rsSin@cosSy —rcosesiny
J=[sinpcosy rcospcosy —rsingsiny|=r?cosy
sin y 0 rcosy

Zobecnéné sférické souradnice

X = ar cos ¢ Ccos y ¢ (0, 2m)
y = brsin ¢ cos y ye{-%,3, @ab,ce(0, »)
z=crsiny re0,1

acosgcosy —arsin@cosy —arcosesiny
J =|bsingpcosy brcosgpcosy —brsin gsin y|=abcr? cosy
csin y 0 crcosy



